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& F—hEREREMEREMTE No.
2 b1 5 = B i il 4] i
RN X
I BT 1] X 476,370,155
il Bk T 1] 66,639,082
FEMR R i T2 1 = 98,741,979
ERCEREX ¢ 641,751,216
Hm
I I 1] K 44,235,629
i R AR P 1) =K 66,918,854
— A 1 = 83,366,919
FamE 194,521,402
EFF 836,272,618
A EH KA (L FmE) T REIET 836,272,000
TH B Bl S5 AH 4 %R 66,901,760
wER (LEE) 903,173,760




& F—hEREFEMEREMTSE No. 2
% E7 i3] 2  HfI i ) &
I |BEISF

Al |EVEE- FREEEETHE 1 =X 67,200,684
A2 |[EVER FEE KOs T8 1 = 39,158,302
A3 |H=EM(12~15,20,28.36. 4480 k& T3 1 =K 295,153,616
A4 |IMESE T E 1 = 36,025,080
A5 |fRfR-fE T E 1 =K 4,894,238
A6 [FPrdE LE 1 =& 33,938,235

&t 476,370,155




B W

F—hEREFMESUEMTE

No.
% E7 i3] 2  HfI i & ) &
Al [EVEE - TREHEETSE
Al-1 |EVHEEE T 1 K 22,364,322
Al-2 [12Bf PN R =HEE THE 1 =K 27,827,099
Al-3 |I3FHTFRE=EMETH 1 =X 17,009,263
&t 67,200,684




2 F—hEREFR{LIEMT S No. 4
£ L 1 E Hf il £ &

Al-1 |EVERIEEET =
Al-1-1 |EEARGER T3 IRE- 897,832
Al-1-2 [T 1 K 230,889
Al-1-3 |HI3E T & 1 K 167,370
Al-1-4 |8k T 5 1 K 2,078,640
Al-1-5 [ 7 —bT% 1 K 2,790,689
Al-1-6 BT 5 1 K 3,744,924
Al-1-7 [BhAK 5 1 K 903,166
Al-1-8 |&J& - BIR K OEWTEH 1 K 7,047,352
Al-1-9 |EBETH 1 K 1,040,682
Al-1-10|& B -1 L5 1 K 2,674,964
Al-1-11[%2E-NEETH 1 K 482,064
Al-1-12| 2=y N 2O T 5 1 3K 305,750

aEt 22,364,322




2 F—hEREFR{LIEMT S No.
£ L 1 E Hf {iff £ &

AM-2 |12 TREEETE
Al-2-1 |EHARGER L5 1 K 1,079,442
Al-2-2 [+ T 1 K 451,990
Al-2-3 |Hi3E T & 1 K 437,670
Al-2-4 [8kfH T 5 1 K 2,332,380
Al1-2-5 [/ —h % 1 K 2,785,057
Al-2-6 |BpE T 5 1 K 2,717,290
A1-2-7 [BhK 5 1 K 2,672,466
Al-2-8 [ -#A VT % 1 K 738,390
A1-2-9 |&J& - BIR L W T 1 3L 3,556,134
Al-2-10|E'E T 1 K 860,891
Al-2-11 [ H -1 TF 1 K 4,898,036
Al-2-12| 8- N2 T 1 K 955,953
Al-2-13| 2=y N R DO T F 1 K 4,341,400

aEt 27,827,099




2 F—hEREFR{LIEMT S No. 6
£ L 1 E Hf {iff £ &

A-3 |1 TREEETE
A1-3-1 |EHAG L5 1 K 686,123
A1-3-2 [T 1 K 309,934
A1-3-3 |Hi3E T & 1 K 256,158
Al1-3-4 [#kfH T 5 1 K 2,346,920
Al1-3-5 [/ —hT% 1 K 1,657,174
Al-3-6 |BpE T 5 1 K 1,607,261
A1-3-7 [BhAK 5 1 K 1,424,803
Al-3-8 [ -#A L TH 1 K 294,924
A1-3-9 |&J& - BIR L W T 1 3L 1,989,728
Al-3-10|E'E T 1 K 534,817
Al-3-11[ -1 TF 1 K 3,112,514
Al-3-12| @ N2 T 5 1 K 489,267
Al=-3-13| 2=y N R DO T F 1 K 2,299,640

aEt 17,009,263




& F—hEREFEMEREMTSE No.
% E7 i3] 2 Bifg i ) &
A2 [[BEYBRTEBERUREISE
A2-1 & B 1 SPRVEV R AR T 1 =X 14,450,024
A2-2 [12-13BHIEVE Pk T4 1 = 13,647,707
A2-3 |13-14FRJEV IR PR 5 1 X 7,439,270
A2-4 |12-15FRIEVE PR T4 1 = 3,621,301

op
Tl
+

39,158,302




2 F—hEREFR{LIEMT S No. 8
£ L 1 E Hf {iff £ &

A-1 |BEEFE-BEEVRTEEISE
A2-1-1 |EHARGER L5 IRE- 564,065
A2-1-2 [T 1 K 85,716
A2-1-3 |Hi3E T & 1 K 161,702
A2-1-4 [#kfH T 5 1 K 1,019,480
A2-1-5 [/ —h L% 1 K 1,028,519
A2-1-6 B T8 1 K 1,228,976
A2-1-T [BhAK 5 1 K 539,982
A2-1-8 |&J& - BIR K OEWTLE 1 K 7,061,839
A2-1-9 |EBETH 1 K 399,879
A2-1-10| B -1 L5 1 K 2,132,728
A2-1-11[83E - NEE R O O T5 1 K 227,138

aEt 14,450,024




2 F—hEREFR{LIEMT S No.
£ L 1 E Hf {iff £ &

A2-2 [12-13EVYEBRTEEISE
A2-2-1 | BB L5 IRE- 436,160
A2-2-2 [+ T 1 K 480,577
A2-2-3 |HI3E T & 1 K 219,184
A2-2-4 [#kfH T 5 1 K 1,112,880
A2-2-5 |7 —h I 5 1 K 1,620,224
A2-2-6 BT 5 1 K 936,040
A2-2-T Bk T35 1 K 3,252,486
A2-2-8 |Bi7K - & AV T 5 1 K 95,834
A2-2-9 |& )@ BIR K LW L= 1 K 4,494,783
A2-2-10|E'E T 1 K 161,005
A2-2-11[%3E - NEE R O D T5 1 K 838,534

aEt 13,647,707




2 F—hEREFR{LIEMT S No. 10
£ L 1 E Hf {iff £ &

A2-3 [13-14EVYEBRTEEISE
A2-3-1 |EH G L5 IRE- 168,290
A2-3-2 [T 1 K 38,680
A2-3-3 |Hi3E T # 1 K 90,998
A2-3-4 [#kfH T 5 1 K 139,627
A2-3-5 | /) —h I 5 1 3L 499,462
A2-3-6 BT 5 1 K 103,771
A2-3-T |BkE L5 - it k78 T 1 K 908,026
A2-3-8 |& @A E T F 1 KX 797,760
A2-3-9 |BA/K-AE T8 1 K 185,935
A2-3-10|< )@ - BAR L VW 5 1 K 3,755,174
A2-3-11[ -1 TF 1 K 606,364
A2-3-12(82k- N T F 1 K 145,183

aEt 7,439,270




2 F—hEREFR{LIEMT S No. 11
£ L 1 E Hf il £ &

A2-4 [12-15EVY B TEEISE
A2-4-1 | BB L5 IRE- 314,193
A2-4-2 [+ T 5 1 K 111,034
A2-4-3 |Hi3E T 1 K 108,972
A2-4-4 [8kFH T 5 1 K 285,720
A2-4-5 |27 —h T 5 1 K 486,379
A2-4-6 | BT 5 1 K 322,322
A2-4-T |8kE T 5 1 K 571,217
A2-4-8 [Bh/K-EH T.H 1 KX 50,509
A2-4-9 |& )@ BIR K LWL 1 K 1,140,319
A2-4-10(2k - N T 5 1 K 230,636

aEt 3,621,301




& F—hEREFEMEREMTSE No. 12
% E7 i3] 2 Bifg i ) &
A3 [E = (12~15.20.28.36. 444 ET =
A3-1 |12BdE T2 1 =X 48,297,130
A3-2 |13kfE T 1 = 93,346,770
A3-3 |14BdE T 1 =X 96,352,375
A3-4 |15HkE T 1 = 28,756,097
A3-5 |20-28ffikfE T3 1 =X 16,786,003
A3-6 |36MkE T 1 = 2,810,477
A3-7 |44BEE T 1 =X 8,804,764
&t 295,153,616




2 F—hEREFR{LIEMT S No. 13
£ L 1 E Hf {iff £ &
A3-1 |12 & E
A3-1-1 |EHARGER L5 IRE- 5,075,048
A3-1-2 |1 -HiZET = 1 K 54,096
A3-1-3 |8kf5 T3 1 K 59,462
A3-1-4 |22 7Y —h T 5 1 K 384,578
A3-1-5 [T 5 1 K 278,240
A3-1-6 [Ph7k T3 1 K 7,157,970
A3-1-T |& )@ BIR K LWL 1 K 3,034,223
A3-1-8 |EE LHE 1 K 2,097,503
A3-1-9 | H -7 T8¢ 1 K 16,343,362
A3-1-10|4 @ ok T 1 K 7,528,080
A3-1-11[BETH 1 K 832,661
A3-1-12|NZET 5 1 KX 1,786,390
A3-1-13| 2=y N R DO T F 1 K 1,861,975
A3-1-14|H - oy 2 1 KX 1,803,542
At 48,297,130




2 F—hEREFR{LIEMT S No. 14
£ L 1 E Hf {iff £ &

A3-2 |13 HEITHE
A3-2-1 |EHRGER L5 IRE- 7,217,275
A3-2-2 |1 -HiZET 1 K 28,580
A3-2-3 |8kfiK T3 1 K 34,665
A3-2-4 |22 7Y —h T 5 1 K 200,663
A3-2-5 | BT H 1 K 136,241
A3-2-6 [BkE T 1 K 252,696
A3-2-7 [BhK 5 1 K 8,125,890
A3-2-8 [KT.5 1 K 1,452,480
A3-2-9 |& )@ BIR K LW IEH 1 K 4,048,358
A3-2-10|E'E T 1 K 3,126,576
A3-2-11 [ H -1 TF 1 K 28,901,630
A3-2-12|& @A E T F 1 KX 4,041,840
A3-2-13[BEET H 1 K 1,458,414
A3-2-14|NZET 5 1 KX 6,222,615
A3-2-15|2=y N R DO T F 1 K 20,870,580
A3-2-16|5MEELk & T 5 1 K 1,991,065
A3-2-17 - o B 1 K 5,237,202

aEt 93,346,770




2 F—hERRFMILBEMTE No. 15
£ L 1 E Hf il £ &

A3-3 |14FEITHE
A3-3-1 |EHAGER L5 IRE- 6,734,225
A3-3-2 [L-HiZET 1 K 96,304
A3-3-3 |8kfih T3 1 K 118,872
A3-3-4 |22 7Y —h .5 1 K 439,794
A3-3-5 | BT H 1 K 281,317
A3-3-6 [Bh/K - HAE T 5 1 KX 6,727,690
A3-3-7 | KT.% 1 K 2,795,184
A3-3-8 |@ )& - BIR L OEWTE 1 K 6,259,351
A3-3-9 |EETH 1 K 2,150,721
A3-3-10|t B- i1 L5 1 K 20,291,618
A3-3-11|& BRI ETH 1 K 6,226,840
A3-3-12| BT 5 1 KX 1,782,918
A3-3-13|NETH 1 K 5,829,286
A3-3-14[ =y N VDM T4 1 K 28,287,460
A3-3-15 4 EELfE T3 1 K 1,888,030
A3-3-16|#lt2 - oy 2 1 K 6,442,765

aEt 96,352,375




2 F—hEREFR{LIEMT S No. 16
£ L 1 E Hf {iff £ &

A3-4 |15 HRETHE
A3-4-1 |EHARGE L5 IRE- 5,500,974
A3-4-2 (L - HFET 1 K 27,926
A3-4-3 |Bkff A e 3 ) — N L 1 K 114,382
A3-4-4 [Bh7k T3 1 K 8,259,600
A3-4-5 | &)@ BIR K LWL 1 K 501,906
A3-4-6 | £ L% 1 K 150,647
A3-4-T iR H -1 T 5% 1 K 6,737,420
A3-4-8 [EIE T H 1 KX 895,140
A3-4-9 |NEET H 1 K 61,698
A3-4-10[ =y N VDM T4 1 X 148,700
A3-4-11[SMEEL(E T8 1 K 5,217,303
A3-4-12|H2 - oy 2 1 KX 1,140,401

aEt 28,756,097




2 F—hEREFR{LIEMT S No. 17
£ L 1 E Hf {iff £ &

A3-5 [20-28fFchETE
A3-5-1 |E G L5 IRE- 595,669
A3-5-2 (L -HiFET 1 K 4,730
A3-5-3 |8kff « e 3 ) — N LR 1 K 149,754
A3-5-4 |BiK -2 A T 5 1 K 138,350
A3-5-5 |& )@ BIR K LWL 1 3L 339,010
A3-5-6 |£'F T8 1 K 270,735
A3-5-T |/ H -1 T 5% 1 3L 9,115,000
A3-5-8 |k T% 1 K 590,622
A3-5-9 [N T % 1 K 544,514
A3-5-10[=y N D T4 1 X 4,288,740
A3-5-11[#E - 1 K 748,879

aEt 16,786,003




& F—hEREFEMEREMTSE No. 18
% b i3] 2 Bifg i 28 &
A3-6 [36HEHUETLE
A3-6-1 |EEGR T5 1 X 204,284
A3-6-2 | ;- HiZE T 1 K 5,891
A3-6-3 |Ekfg - B - 2 7 — RN T 1 X 55,169
A3-6-4 |Bh/K 5 1 K 36,892
A3-6-5 | & - BB EREWTHE 1 K 1,749,025
A3-6-6 |£E T3 1 =& 86,824
A3-6-7 | & BN ETH 1 =X 447,800
A3-6-8 ¥t NEET = 1 =& 50,589
A3-6-9 | E - Lo 1 X 174,003
&t 2,810,477




& F—hEREFEMEREMTSE No. 19
% b i3] 2 Bifg i 28 &
A3-7 |MEBUETIE
A3-T-1 |EBEGR T 1 =X 1,920,215
A3-T-2 |Bh/K-ZAN T HE 1 K 750,695
A3-T-3 | &8 - BIR K NV T H 1 X 2,026,998
A3-T-4 | EETEH 1 =& 171,344
A3-7-5 | E -+ TF 1 X 628,248
A3-7-6 [ERdE- NEET 1 =& 89,600
A3-T-T | 2= R NZ D T 5 1 =X 138,160
A3-7-8 |/ EESE T. 5% 1 = 2,754,771
A3-T-9 | E - Juoy e 1 =X 324,733
&t 8,804,764




B W

F—hEREFMESUEMTE

No. 20
% E7 i3] 2 Bifg i & ) &
A |SMESETE
Ad-1 |AMESE TH 1 =X 26,055,810
A4-2  |HZE sy 1 =& 9,969,270

op
Tl
+

36,025,080




& F—hEREFEMEREMTSE No. 21
% b i3] 2 Bifg i ) &

AM-1 |5MESETIE
Ad-1-1 |EEAGR T 1 X 121,968
Ad-1-2 |GHdE T 5 1 = 4,193,326
A4-1-3 |HE T H 1 X 573,376
Ad-1-4 |HEK LHE 1 = 10,626,217
A4-1-5 |FFk T 1 K 288,557
A4-1-6 |F O T2 1 =& 10,252,366

&t 26,055,810




& F—hEREFEMEREMTSE No. 22
% E7 i3] 2  HfI fifi ) &

AM-2 |BE - AnE

A4-2-1 |ElEERE - vy 1 X 6,252,122

A4-2-2 |PHFERLE - 2055 1 =& 43,071

A4-2-3 |BEAK S vy 1 =X 747,902

Ad-2-4 |FEFA L - o e 1 = 295,890

A4-2-5 |F D E - L5y 2 1 =X 2,630,285

op
T
+

9,969,270




B F—hFREFWHERERTE No. 23

£ FR 1 = ¥ 2 B B ff il %
AS |fERK - BEIE
AB=1 | BRI 3B S R - s - i B 1 3L 1,600,028
A5-2 |12~ 138 JER T fds - i 25 - JLoy 2 1 K 1,246,058
A5-3  [13-1AMRIED R T R4S - 2 - Loy 2 1 K 378,619
A5-4 |12~ 158K JER T s - i 25 - JLoy 2 1 K 1,669,533

o>
T
+

4,894,238




B W

F—hEREFMESUEMTE

No. 24
£ g1 i 2  HfI il & £ &
A6 |{ERTEIZE
A6-1 | 128U AT k& T 1 =X 16,612,848
A6-2 | 288 fH Fr ks T 1 =& 17,325,387

op
Tl
+

33,938,235




& F—hEREFEMEREMTSE No. 25
% b i3] 2 Bifg i 28 &
A6-1 [12i&{EFrIE TS
A6-1-1 |IEBEGR T 1 X 165,657
A6-1-2 |Bh/K - R LE 1 K 145,606
A6-1-3 |&B L& 1 X 1,226,930
A6-1-4 | EE TH 1 =& 755,293
A6-1-5 | E -+ T 1 X 6,106,258
A6-1-6 B3t NEET = 1 =& 2,082,453
A6-1-7 | 2= R NZ D T 5 1 X 4,270,880
A6-1-8 |#Zs - Loyt 1 = 1,859,771
&t 16,612,848




& F—hEREFEMEREMTSE No. 26
% b i3] 2 Bifg i 28 &
A6-2 (281 {EFFCRIEIE
A6-2-1 |IEEAGR T3 1 X 452,320
A6-2-2 |Bh/K - R LE 1 K 151,134
A6-2-3 |&B L& 1 X 1,268,394
A6-2-4 | EE TH 1 =& 848,481
A6-2-5 | B -+ T 1 X 5,834,947
A6-2-6 B3t NEET 1 =& 2,648,365
A6-2-T7 | 2= MR NZE D T 5 1 X 4,909,510
A6-2-8 |#ds - Loyt 1 = 1,212,236
&t 17,325,387




£ W F—hEREFGILEMISE [FAER 1] No. 27
4 g i L2 ¥ B E<¥iva B 4 KA fid

I |EXEELIS
1 |EVH- Fe=siEsET s 1 =K 2,336,380
2 |EVER FER L OSE T H 1 = 1,139,330
3 |BEMUETE 1 =K 59,220,212
4 |HESE TS 1 = 3,943,160

&5t 66,639,082




% F—hEREFGILEMISE [FhAER 2] No. 28
4 g i L2 ¥ B E<¥iva B & i
1 [EVEE - TREEETSE
OEVHEZE T % 2V 1,663,940
@128 F R ETH = 413,320
QI3 T RSB T H 2V 259,120
&t 2,336,380
2 [BEYBTEZERUREISE
O BRI 13RIV R A T3 = 182,170
@12- 13KV R N T3 = 859,320
Q13- 14BRIEV S N AR T2 = 97,840
&t 1,139,330




& W F—hERRFHLEMTSE (PHER 2] No. 29
% i 1 P % = HLATL A il 1
3 |BEBEREIE 12,13, 14,15, 20, 28, 36, 44%%

D12k fE T5 L s T 1 K 3,852,030
@128 e TF 1 K 5,220,024
@13k e T5 1 X 10,805,232
@148 TF 1 K 8,532,104
@158k fE T5 1 =K 9,135,762
@208 fE T 5 1 K 99,900
D28fckfe T.5 L s T 1 K 3,981,370
@28kl TF 1 K 11,728,640
@28tfckfE T5 HREAKE TF 1 K 1,000,000
36 TF 1 K 1,288,674
44BHcfE T5 1 K 3,576,476

Bt 59,220,212




£ W F—hEREFGILEMISE [FhAER 2] No. 30
4 g i L2 ¥ B E<¥iva B % i
4 |SESREIE
OIS ETH 2V 3,393,870
@k btdETEHE = 549,290
&5t 3,943,160




£ ¥R F—hERRFHLEMTSE (PHER 3] No. 31
£ PR 1 ke ¥ = HAL Ho A & i
1 |EVEE - TREEETS
OEVHBHEE TH
1) S22 R AR 1 K 18,800
2) EERE) R i 1 =K 430,040
3) EEAT R A - 637,190
4) b MR 1 K 12,810
5) AN AZ AR fifi IRV 41,280
6) I HH i 1 K 45,870
7) PEFE R A IRV 101,300
8) B #y K SN i IRV 376,650
Bt 1,663,940
Q@12 F R EME T F
1) BT R i - 353,610
2) LA R A IRV 24,620
3) B Bk SR D 1 K 35,090
At 413,320




£ W F—hEREFGILEMISE [FRAER 3] No. 32
4 g i L2 ¥ B E<¥iva B % i
QI3 T R BHE T H
1) BT B 2V 175,110
2) YL 3% = 16,020
3) B Bk SRR 2V 67,990
At 259,120




% FE—hEREFMIESIEMTE (PAER3] No. 33
% B = LA # fi
2 |BEYBTEBERUSIETE
O BBk 13 RIE VRS F AR T
1) AT R A 182,170
N 182,170
@12- I3ERIEY L T T8
1) AT el A 859,320
oEf 859,320
13- 14KV JFE T Lo
1) AT Rt A IT.840
N 97,840




£ W F—hEREFGILEMISE [FRAER 3] No. 34
4 g T C: ¥ B BALT B 4 KA fid
3 |BERREISE
D128k T3 MU goE T %

1) SRR ED JTR% i 1 = 1,088,720
2) FEAT R 1 =K 1,551,480
3) B N 1 =X 946,770
4) SRR 1 K 265,060

ait 3,852,030




£ ¥R F—hERRFHLEMTSE (PHER 3] No. 35
£ PR 1 ke ¥ = HAL B il i
@128 fE T

1) ERiRED 1) A% f 1 =K 1,021,380
2) AT R A - 1,052,770
3) a bk 1 K 407,870
4) 15 o= MR 1 K 472,280
5) fIL A R A IRV 279,110
6) BRI 5 D 1 K 511,714
7) BB K SRR 1 K 1,474,900

S 5,220,024




£ ¥R F—hERRFHLEMTSE (PHER 3] No. 36
% PR 1 ke ¥ = HAL Ho A & i
@13tk fE TF

1) ERiRED 1) A% f 1 =K 2,841,180
2) AT R A - 3,474,660
3) AL b Rk 1 K 1,422,710
4) 15 o= MR 1 K 528,190
5) REETafi IRV 20,700
6) FL 7 R A 1 K 1,319,390
7) WS R R 1 K 173,860
8) B ¢ D 1 K 170,572
9) B &K SR AT IRV 853,970

Bt 10,805,232




£ ¥R F—hERRFHLEMTSE (PHER 3] No. 37
£ PR 1 ke ¥ = HAL B Al & i
@148l TF

1) ERiRED 1) A% f 1 =K 1,869,590
2) AT R A - 3,201,820
3) AL b Rk 1 K 886,810
4) 15 o= MR 1 K 191,170
5) REETafi IRV 13,800
6) FL 7 R A 1 K 840,810
7) 7L S A S AE R i 1 K 55,500
8) B ¢ D 1 K 743,514
9) B &K SR AT IRV 729,090

Bt 8,532,104




£ W F—hEREFGILEMISE [FRAER 3] No. 38
4 g i L2 ¥ B E<¥iva B % i

®15mickfs T3
1) RN J1R% 1 K 3,339,520
2) EAT 3 1 =X 2,824,640
3) b N 1 =X 91,800
4) 15 B (5 M 1 = 127,760
5) JLFE R 1 5 382,470
6) 758 PE R 1 = 194,940
7) B i 53¢ 1 K 599,152
8) A Eh Ak SR AR 1 = 1,575,480
&t 9,135,762

®201ik s T35
1) B &k SR E% i 1 = 99,900
&t 99,900




£ W F—hEREFGILEMISE [FRAER 3] No. 39
4 g i L2 ¥ B E<¥iva B % i
D28FRkE T3 ML kE T H
1) RN J1R% 1 =X 1,364,240
2) EAT 3 1 =X 1,624,670
3) b N 1 =X 924,390
4) iR 1 = 68,070
&t 3,981,370
@28k & T3
1) SRR ED JTR% i 1 = 2,511,880
2) PL R 1 =K 4,958,110
3) N F% i 1 = 712,220
4) B Bk SR I 1 =K 3,546,430
&t 11,728,640




£ W F—hEREFGILEMISE [FRAER 3] No. 40
4 g T C: ¥ B BALT B 4 KA fid
@28k E T3 PRI SRASE T3

1) BT B 1 =K 432,970
2) L N 1 =X 466,930
3) 99 FE R i 1 =K 25,100
4) B 7 i 1 = 75,000

&5t 1,000,000




£ W F—hEREFGILEMISE [FRAER 3] No. 41
4 g i L2 ¥ B E<¥iva B % i
036k s T3
1) T B e 1 =X 614,600
2) A Eh kSRR 1 = 281,180
3) WA i 3¢ i 1 =X 392,894
&t 1,288,674
D44k fs T3
1) T B E MR 1 =X 910,530
2) P A 1 = 404,500
3) M- HH R i 1 =K 538,610
4) B Bk SR 1 = 699,410
5) A i 53¢ i 1 K 676,406
6) H5Us X i 1 = 347,020
&5t 3,576,476




£ W F—hEREFGILEMISE [FRAER 3] No. 42
4 g i L2 ¥ B E<¥iva B 4 KA i
4 |SESREIE
OiMiEfE TH
1) = 22 EE % A 1 = 92,480
2) W HREN ) B 1 =X 1,991,400
3) AT 3 1 =X 97,920
4) B N 1 =X 32,360
5) P75 Efi 1 = 554,390
6) B Bk SR 1 =K 625,320
&t 3,393,870
Q@ btd&ETHE
1) R E) 1%k 549,290
&t 549,290




A Fh F—FEREFHLHEMTISE No. 43
% L7 #H = By B £8 fis

I |BWRiEIS
1 |EVER: FRsEHEETE .o =X 8,182,660
2 [MEVERT AR L OWE T = 1.0 = 345,290
3 |[BER(12~15,28,36,448) i fE T3 1.0 = 42,573,481
4 |HMESRIETIE .o X 47,640,548

a5t 98,741,979




No. 44

2 ¥ F—hERERFRLIEMISE
% FR & = n 2 Bify i %8 i
1 |EVEE - TREBETE
1-@ |EVHUISEE T % EV 1.0 =X 7,552,000 EV .5
1-@ |EVHEE L% — e T (Bt 5240 .o K 474,100 VH k%A L5
1-® |13 T R =W T HE FFifn .o K 156,560 HEAKERAH - ik T

8,182,660




A Fh F—FEREFHLHEMTISE No. 45
% 5 b = #H = By B & # fi& =
2 |EYVBRTEBRUHELSE
2-D |13-14FRIEV i TR T EFHm 1.0 = 345,290 a7k -HEAK - WA HE T H
a5t 345,290




2 ¥ F—hERERFRLIEMISE No. 46

£ FR 1 = H B @ B B ) i £

3 |HEH (12~15, 28,36, 448) HIETE

3-@ |12MidkfE T 0% 1.0 =X 9,926,610 a7k - Bk - fii A= 2 B - R - ik T
3-@ [12BkfE T — e T (Bt 5240 .o K 147,263 VH 3 - ik L
3-@ |13BfkfE T EFME UMY 1.0 K 7,702,344 ok -Hek- A 5B - Wk 4 2 B Lo
3-@ |14k e T FeFrfn 1.0 &K 6,104,040 #aAKk-HEA- #4514 32 Be il A B E T
3-® [158kfE L% — e T (B 5240 .o K 1,331,700 {5aR T iR B - s T
3-© |28tk e T 0% 1.0 =X 12,916,490 Ha7K - Bk - AR 3 B - a5 - il T
3-@ |28tk e T 5 — e T (Bt 5240 .o K 2,684,020 Ak -HEAK- 45 WA (R A - A HE T
3-® [36MRkfE L% — e T (Bt 5250 .o K 665,800 K% K ERAf - A2 T
3-©@ |44tifE T — e T (Bt 5240 .o K 1,095,214 #a7K - HEAK - (IGRTH - AR T8

42,573,481




B E—hERRFGLREMTE No. 47

% L i £ B OB W Hf B i ' # ] %

4 |SMEREIE

4-Q [FMEE TF — s T =B x 544 42,156,538 FaK - HEAK - K - R - WA iR T
4-@ |B EETE — s T B x 544 5,484,010 F57K - BEAK -4k -fETH

a5t 47,640,548




